Picture Perfect?

What do you notice
about these pictures?

How are they alike?

How are they different?

Consider picture L to be the “original™ picture.
1} Which pictures have the same relationship between the length and width as picture L has?
2} Which pictures are enlargements of picture L7

3) Which pictures are reductions of picture 1.7
43 Which other pictures have the same relationships between height and width?
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Proportion match up -
Cut the cards apart.
Match each to its solution.
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1. A boy went fishing. He caught one
fish that weighed 2 Ibs. If he caught 5
fish, they would weigh 10 Ibs. all
together.

2. Fifteen pieces of candy cast $2.80
therefore 45 pieces of the same candy
will be $8.40.

3. If Raejean types 20 characters in
15 seconds for her text message,
then she can type 80 characters in 60
seconds.

4. If it takes 20 minutes to bake a half
sheet of cookies, then it will take 40
minutes to bake a whole sheet of
cookies.

5. Staveya can read 25 words in one
minute. If she reads for 10 minutes
she will read 250 words.

6. A student’s last name is 6 letters
long, so 5 students’ last names are 30
letters long.

7. A 120z bag of popcorn holds 6
cups of popped corn, so a 360z bag
should hold 18 cups.

8. If 6 boys can deliver papers in
3 hours, then 4 boys could do that
route in 1 hour.

9. Jasmine spends $4 on 3 tickets.
That means she would spend $9 on 8
tickets.

10. If one person can run 10 miles in 8
minutes, then 4 people can run 40
miles in 8 minutes.




